| DH-25CU |

1/74-28 CLASS UNF-2A
6 STUDS

6-32 CLASS NC-2A EVACUATION
6 STUDS TUBE
3.42
2. 875 .38+ 06

3

3.42

2.875————‘

%.

08

Ngmﬁ?o

-.005
4 MTG. HOLES

CONSTRUCTION
MAIN CONTACTS
CONF 1 GURAT ION
VOLTAGE
CURRENT
RESISTIVE
INDUCTIVE
MOTOR

AUXIL1ARY CONTACTS
CONF 1GURAT [ON
VOLTAGE
CURRENT

RESISTIVE

COIL DATA
DUTY CYCLE
MAX OPERATE VOLTAGL

NOMINAL OPERATE VOLTAGE

MAX P1CKUP VOLTAGE
DROPCUT VOLTAGE

ENVIRONMENTAL DATA
TEMPERATURE
ALTI\TUDE

LIFE ELECTRICAL

LIFE MECHANICAL

WE1GHT MAX

HOLE

.62+ .06

(8X9X9

HERMET ICALLY SEALED

3PST N.O.
115,200 VAC, 400 HZ

120 AMP, 400 HZ

120 AMP, 400 HZ
100 AMP, 400 HZ

2PST, 1 N.O,,
28 vDC

5 AMP

1 N.C.

CONT INUQUS

32 vDC

28 vDC

18 VDC AT +71°C
1.5 70 7.0 vDC

-55°C T0 +71°C
50,000 FEET MAX
50,000 CYCLES MIN,
100,000 CYCLES MIN,
2.1 LBS

REVISIONS

RELEASED  [99/12/14

REY DESCRIPYION

DATE APPROVED)

D | 40948} 2.60 WAS 2,58, “PREL IMINARY

DRAWING* REMOVED

99/11/19 Mmmv

L 082
B1 O—m=a

.Irﬂl|0 A2
Al

T
C1 Qb
+X1
Wil OBSERVE
_ Ty POLARITY
2.60% .06 —=
oL NOTES:
e 3,44 MAX ——

1
i 1
1

PM

1, COIL TRANSIENT VOLTAGE LIMITED
TO %42 VOLTS REFERENCED TO ZERO VOLTS.

14 11 39529-027 OVERLAY - NAME PLATE

1541 39529-017 OVERLAY - WIRING DIAGRAM

1216 51807-034 WASHER - 1/4 SPLIT _LOCK BRONZE
NG 51806-014 WASHER - NO. 6 SPLIT LOCK BRONZE
1012 51805-011 WASHER - ND. 5 SPLIT LOCK BRONZE
g 2 51701-180 WASHER .015 X .103 X 3/16 MYLAR

8 |2 51205-291 SCREW 5-40 X 5/8 RD. HP. BRASS
716 50407-074 NUT 1/4-28 X 3/8 X 3/16 HEX. BRASS

5 |6 50406-034 NUT 6-32 X 1/4 X 5/64 HEX, BRASS

5 11 20001-050 | CONTACTOR AGSEMBLY - PRIMARY

7 1 17539-001 SHIELD - TERMINAL

3 1 18440-003 PLATE - WIRING DIAGRAM

7 [ 1 18337-009 PLATE - BASE COVER

T (1 16043-001 PLATE - NAME
FinD | o1y PART OR NOMENCLATURE OR Fscu DRAWING OR MATERIAL
WO | REQGD IDENT IFYING NO DESCR1PTION T SPECIFICATION OR NOTE

LSS OTHERmISE SPECEFIED
DINDEINE AL IN IS

HARTMAN ELECTRICAL MANUFACTURING

MANSFIEED, OHIO

HUERNCES, (i
2 PL DEC.;13 PL DEC.JANGLES
+ 03 [ 010 : 1+ JUR BY|RLS[99/12/14
> * CHK BY|; FUEES
MATERIAL ENGR] .
MFE G

CONTACTOR - 3PST N.O.
120 A, 400 HZ, 28 VvDC COIL

093

RELEASE

CONTR NO,

GOVT APPVL

SI12E CODE DENT {DWG NO.

C {74063

DH-25CU

SCALE NONE

[SHEET




